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1 Bayes’ Nets

Unfortunately during spring due to illness and allergies, Billy is unable to distinguish the cause (X) of his
symptoms which could be: coughing (C), sneezing (S), and temperature (T). If he is able to determine the
cause with a reasonable accuracy, it would be beneficial for him to take either “Robitussin DM” or Benedryll.
He has asked you to help him formulate his problem as a Bayesian Network. At any point in time, Billy can
either be sick (X = sick), allergic (X = allergic), or well (X = well).

Figure 1: Bayes’ Net

(a) (2 points) List all independence and conditional independence relationships implied by this Bayes’ net.

(b) (2 points) Write the algebraic expression for P (C,S) in terms of the joint distribution P (X, C, T, S).

(c) (2 points) What probability and conditional probability tables must we store for this Bayes’ net?

(d) (2 points) Derive an expression for the posterior distribution over X given whether Billy is coughing
(C) and sneezing (S).

(e) (2 points) Derive an expression for the likelihood of observing that he is coughing (C) and sneezing
(S) given X.



2 HMMs

You sometimes get colds, which make you sneeze. You also get allergies, which make you sneeze. Sometimes
you are well, which doesn’t make you sneeze (much). You decide to model the process using the following
HMM, with hidden states X ∈ {well, allergy, cold} and observations E ∈ {sneeze, quiet}.

Figure 2: HMM State Transition Diagram

Figure 3: HMM Probability Tables

(a) (1 point) Fill in the missing entries in the probability tables above.



(b) (2 points) Imagine you observe the sequence quiet, sneeze, sneeze. What is the probability that you
were well all three days and observed these effects?

(c) (2 points) What is the posterior distribution over your state on day 2 (X2) if E1 = quiet, E2 = sneeze?

(d) (2 points) What is the posterior distribution over your state on day 3 (X3) if E1 = quiet, E2 = sneeze,
E3 = sneeze?



3 MDPs

Figure 4: MDP

Consider the above MDP, representing a robot on a circular wheel. The wheel is divided into eight states and
the available actions are to move clockwise or counterclockwise. The robot has a poor sense of direction and
will move with probability 0.6 in the intended direction and with probability 0.4 in the opposite direction. All
states have reward zero, except the terminal states which have rewards −1 and +1 as shown. The discount
factor is γ = 0.9.

(5 points) Compute the numeric values of the state-value function V (s) for states s1 through s6 (compute
V (s1), V (s2), ...). Show your work below.



4 More MDPs and Reinforcement Learning

(a) (2 points) What is an ε-greedy policy and why is it important in Q-learning?

(b) (2 points) Why might one want to keep track of an action-value function Q(s, a) rather than a state-
value function V (s)? Can we compute V (s) from Q(s, a)? If so, give an equation. Can we compute Q(s, a)
from V (s)? If so, give an equation.

(c) (2 points) Consider a two-player adversarial zero-sum game. Players MAX and MIN alternate actions
in this MDP. When a transition (s, a, s′) occurs, MAX receives reward R(s, a, s′) and MIN receives reward
−R(s, a, s′). MAX attempts to maximize his total rewards and MIN attempts to minimize his total rewards.
Let QMAX(s, a) and QMIN (s, a) denote the q-values for performing action a in state s for players MAX
and MIN, respectively. Given discount factor γ and transition probabilities T (s, a, s′), write two Bellman
equations expressing each of QMAX and QMIN in terms of adjacent lookahead values of QMAX and/or
QMIN .


